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1)
Quick:
4289

Draw a triangle with the specified dimensions and calculate its area. Do this by
drawing a height of your choice and measuring the length of this height and the
corresponding side..

a) c = 8 cm, β = 34 degrees, a = 8.9 cm
Fläche: a · ha/2 = 8.9 · 4.5/2 = 20
b · hb/2 = 5 · 7.9/2 = 19.8
c · hc/2 = 8 · 5/2 = 20
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b) β = 30 degrees, a = 7.3 cm,
γ = 84 degrees Fläche: a · ha/2 =
7.3 · 4/2 = 14.6
b · hb/2 = 4 · 7.3/2 = 14.6
c · hc/2 = 8 · 3.7/2 = 14.8
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2)
Quick:
4289

Draw a triangle with the specified dimensions and calculate its area. Do this by
drawing a height of your choice and measuring the length of this height and the
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Solutions to smp-4289-2/NOMQ

corresponding side..

a) a = 8.2 cm, b = 7 cm, c = 3 cm Fläche:
a · ha/2 = 8.2 · 2.5/2 = 10.3
b · hb/2 = 7 · 2.9/2 = 10.2
c · hc/2 = 3 · 6.8/2 = 10.2
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b) a = 7.2 cm, b = 9 cm, c = 5 cm Fläche:
a · ha/2 = 7.2 · 5/2 = 18
b · hb/2 = 9 · 4/2 = 18
c · hc/2 = 5 · 7.2/2 = 18
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3)
Quick:
4289

Draw a triangle with the specified dimensions and calculate its area. Do this by
drawing a height of your choice and measuring the length of this height and the

www.dw-math.com Page 2 smp-4289-2/NOMQ



Solutions to smp-4289-2/NOMQ

corresponding side..

a) b = 4 cm, α = 94 degrees, c = 6 cm Fläche:
a · ha/2 = 7.4 · 3.2/2 = 11.8
b · hb/2 = 4 · 6/2 = 12
c · hc/2 = 6 · 4/2 = 12
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b) a = 12.9 cm, γ = 33 degrees, b = 7 cm
Fläche: a · ha/2 = 12.9 · 3.8/2 = 24.5
b · hb/2 = 7 · 7/2 = 24.5
c · hc/2 = 8 · 6.1/2 = 24.4
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4)
Quick:
4289

Draw a triangle with the specified dimensions and calculate its area. Do this by
drawing a height of your choice and measuring the length of this height and the
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corresponding side..

a) a = 3.9 cm, γ = 45 degrees, b = 4 cm
Fläche: a · ha/2 = 3.9 · 2.8/2 = 5.5
b · hb/2 = 4 · 2.7/2 = 5.4
c · hc/2 = 3 · 3.7/2 = 5.6
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b) α = 94 degrees, c = 4 cm, β = 49 degrees
Fläche: a · ha/2 = 6.6 · 3/2 = 9.9
b · hb/2 = 5 · 4/2 = 10
c · hc/2 = 4 · 5/2 = 10
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Good Luck!
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